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BOTANY — GENERAL

Paper : SEC-A-1

(Plant Breeding and Biometry)

Full Marks : 80
Candidates are required to give their answers in their own words

as far as practicable.
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30 Pod

11, 15, 17, 16, 12, 16, 17, 16, 17, 19, 12, 13, 14, 16, 17, 18, 22, 21, 18, 17, 16, 20, 17, 19, 16, 19, 16,
17, 17  14.

Chi-Square Goodness of Fit 
2

[English Version]
The figures in the margin indicate full marks.

1. Answer any ten questions : 2×10

(a) Write down any two objectives of plant breeding.

(b) Define Test Cross.

(c) Name two hybrid varieties of rice.

(d) What is clone?

(e) What is Intravarietal hybridization?

(f) Write two importance of seed preservation.

(g) What is bulbil?

(h) What is parthenogenesis? Give example.

(i) Define Median.

(j) Write the equation of mean deviation.

(k) What is standard error?

(l) Give an example of qualitative and quantitative variable.

(m) Give two examples of transgenic plant.
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2. Write short notes on (any four) : 5×4

(a) Seed Bank

(b) Mutation breeding

(c) Advantages and disadvantages of cloning

(d) Importance of tissue culture in crop improvement

(e) Types of measures of dispersion.

3. Answer any four questions :

(a) What is ‘Natural Selection’? What are the merits of pure line selection? Write the differences
between mass selection and pure line selection. 2+2+6

(b) Write down the theories of Heterosis. Describe the process of emasculation. 5+5

(c) Define ‘Distant Hybridization’. Write the main barriers associated with distant hybridization. Briefly
describe the methods of seed preservation. 2+4+4

(d) The number of pods of 30 pea-plants in a pea-garden is as follows :

11, 15, 17, 16, 12, 16, 17, 16, 17, 19, 12, 13, 14, 16, 17, 18, 22, 21, 18, 17, 16, 20, 17, 19, 16, 19, 16,
17, 17 and 14.

From the above data calculate the Mean and Standard deviation. 5+5

(e) Define Chi-Square Test. Describe 2-test method of testing ‘Goodness of Fit’. Mention the
importance of the test. 2+6+2


